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10m AP6OMW

JIE 45z K 4 g | V3R | Hi#E HDCP | HCHi#& B
1 =R F=E L5 G 504.0 69.7 573.7 AP60
2 3 X R G 516.0 440 560.0 AP60
3 FHLE = N S 506.0 470 553.0 AP60
4 xR BE =50 S 545.0 5.0 550.0 AP60
5 =R & IN= G 408.0 139.7 547.7 AP60
6 KEWR F FE D 515.0 31.3 546.3 AP60
7 oy 115 N G 522.0 22.3 5443 AP60
8 s MRS R S 529.0 9.0 538.0 AP60
9 mH F BE G 535.0 -2.0 533.0 AP60
10 M EE =g G 516.0 16.3 532.3 AP60
11 EEFRE Ea = G 525.0 3.7 528.7 AP60
12 T X ITE G 485.0 41.3 526.3 AP60
13 RO ®F R G 331.0 29.6 526.1 HR40
14 U\ 250 S 510.0 13.7 523.7 AP60
15 NN J e D 515.0 0.7 515.7 AP60

10m ARBOMW

JIE 45z K 4 g | V3R | Hi#E HDCP | HCHi#& B
1 HIfE HF &% D 574.0 138 587.8 ARG0
2 2H &% |B/N\3E&E| B 605.8 -22.9 582.9 AR60
3 R —% F4 [T P 570.1 124 582.5 AR60
4 Bl Bak FE B 591.4 -10.7 580.7 ARG0
5 K FE Z X0 G 579.0 -0.1 578.9 ARG0
6 MR EE =g G 552.8 24.0 576.8 ARG0
7 N EE 540 B 603.2 -27.2 576.0 AR60
8 I8A 7 FE S 555.5 19.6 575.1 AR60
9 =l T rEN S 592.4 -18.4 574.0 AR60
10 | /MEE BAE | #EII S 511.0 60.6 571.6 AR60
11 HLE s Nz S 581.3 -12.0 569.3 AR60
12 BK BX EE G 460.8 81.1 541.9 AR60




10m P60M

Btz K 4 i | V3R | Hi&E HDCP | HCHi#& B
1 [R =5 R G 626.9 -3.4 623.5 ARGOPR
2 =H F eI S 630.9 -10.1 620.8 ARGOPR
3 = EE S 613.8 34 617.2 ARGOPR
4 FRIR —F F4 [ P 618.8 -1.8 617.0 ARGOPR
5 BE &5 B G 620.7 -4.5 616.2 AR60OPR
6 IGH 7 FE S 598.3 8.6 606.9 ARGOPR

50m 3 X 20MW

JIE 52 K 4 g | 92R | Hi&E HDCP | HCHi#& B
1 B &R eI G 522.0 55.0 577.0 50m3x20
2 fnk ME =50 G 533.0 21.7 554.7 50m3x20
3 2R &# | BN\TE B 572.0 -19.5 552.5 50m3x20
4 na &X BE S 533.0 13.7 546.7 50m3x20
5 1M = FiE S 499.0 473 546.3 50m3x20
6 ZH Rt Iz B2 G 537.0 8.0 545.0 50m3x20
7 XiE BB | ANZE| B 520.0 25.0 545.0 50m3x20
8 A #k =5 D 526.0 17.3 543.3 50m3x20
9 NMHES ShE | BRI S 435.0 99.0 534.0 50m3x20
10 HIfE HF ~% D 484.0 35.0 519.0 50m3x20

50m P60MW

B iz K 4% i | V3R | Hi&E HDCP | HCHi#& B
1 aH F E4 @ G 579.6 42.1 621.7 50mP60
2 EiZ A g 607.6 12,5 620.1 50mP60
3 Bl Bak FE B 612.0 6.0 618.0 50mP60
4 KiE BFH 55/ Ds 582.4 34.0 616.4 50mP60s
5 VNS E4 @ Ds 616.5 -0.3 616.2 50mP60s
6 Bk EB F4 T D 567.6 484 616.0 50mP60
7 R BEX rEIN G 614.8 -0.9 613.9 50mP60
8 R 2 R G 609.2 4.6 6138 50mP60
9 =H F rEIN S 612.1 1.4 6135 50mP60




10 == Z X0 Ps 599.5 13.7 613.2 50mP60s
11 nE Bk BI% 603.0 9.9 612.9 50mP60
12 = 2R eI G 607.9 4.9 612.8 50mP60
13 2/ &M B/\5E 613.2 -0.7 612.5 50mP60
14 | Bz &7 F4 [ Gs 618.1 -6.2 611.9 50mP60s
15 i EX =8 Ds 597.4 12.4 609.8 50mP60s
16 £l #BE N G 602.6 6.1 608.7 50mP60
17 BIK A& EE 586.4 22.2 608.6 50mP60
18 | KiE A | B/N\FE B 612.6 -5.3 607.3 50mP60
19 FR FF R Gs 592.3 15.0 607.3 50mP60s
20 | BEFR EAR =8 G 608.0 -1.8 606.2 50mP60
21 AH EE R 589.8 14.7 604.5 50mP60
22 AH EE RiR Ds 597.0 5.8 602.8 50mP60s
23 | ARHE %EA FH G 593.7 8.4 602.1 50mP60
24 NE BE& F4 @ B 604.2 -3.2 601.0 50mP60
25 wE # F5 [ P 566.9 32.9 599.8 50mP60
26 A #x =5 D 588.9 8.8 597.7 50mP60
27 FR FF HiR G 592.8 0.7 593.5 50mP60
28 M =E Z 50 G 586.1 74 593.5 50mP60
29 bt Iz B2 D 566.2 23.8 590.0 50mP60
30 #HHE T 250 Ds 4416 68.3 509.9 50mP60s




